Hypothesis Testing

Single Sample

Population Standard Deviation Unknown
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State Average () on Benchmark Exam: 193.8

50 students (n} in your school scored an average
of 202.94 (X) with a standard Deviation (s) of
31.55

Did your school score significantly better than the
state average?

Null: There is no difference between the state
average and your school.

Population Standard Deviation is UNKNOWN
Therefore, compute t
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Square Root of n {50) = 7.07
Standard Error {s,}) = 31.55/7.07 = 4.46
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Must use ¥ toble to determine the critical value.

(Appendix B in Caldwell’s book)

Degrees of freedom {df) = n-1
=50-1
=48
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Family of t Distributions {Two-Tailed Test)
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Since 2.05 »2.02

the null hypothesisthat thereis no difference and conclude
thatthereis a significant difference between your students’

and the state average scores.

is in the critical region, therefore we reject
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Instructor created spreadsheet program
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